LOR Maths Challenge

2008
Year 8

Question 1

[image: image1.png]



[image: image2.png]| am thinking of a number

My number multiplied by 15 is 315

My number multiplied by 17 is 357

What is my number?
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PLtthe comect sign, < ar = or >, into ach number sentence
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[image: image4.png]Look at these number cards

Choose a card to give the answer 4.

=+=+D=4

+9




[image: image5.png]The diagram shows a square
Two straight lines cut the square into four rectangles.
The area of one of the rectangles is shown

3cm

2em) 120t

Not drawn accurately

Work out the area of the rectangle marked A
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[image: image6.png]The signs are missing from these number sentences

Write in the missing signs, + — x ar +

Use each sign only once

20©8
Z1©3

O

15@8




[image: image7.png]Arectangle has an area of 24 cm?

How long could the sides of the rectangle be?

Give three different examples

cm and cm

cm and cm

cm and cm
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[image: image8.png]I this design, the ratio of grey to black is3: 1

What percentage of the design is black?

%




[image: image9.png]Calculate the size of angle m

7o°

700
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[image: image10.png]Alan cuts a rectangle in half and then puts the two halves side by side

n—

—n

Alan's new rectangle

What is the perimeter of Alan's new rectangle?
Wite your expression as simply as possible




[image: image11.png]Martin has some bricks

They are 12em lang, Bem high and Gem deep E””I

He builds this tower with five bricks g Chem

How tall is the tower?
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[image: image12.png]This shape is made of four congruent kites meeting at a point

Not drawn
accurately

Calculate the size of angle k









      

[image: image13.png]Four-fifths of the members of a club are female
Three-quarters of these females are over 20 years old

‘What fraction of the members of the club are females over 20 years old?
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ABCD is a parallelogram.
[image: image14.png]Solve this equation.

21 +5)=12




Work out the sizes of angles a and b.
[image: image15.png]Here are the rules for an algebra grid

This value is the sum of the values
" inthe middle row.

== This value is the product of the values
inthe middle row.

Use these rules ta complete the algebra grid





LOR Maths Challenge

2008
Year 8

Question 8

[image: image16.png]Arectangle has area 1242 and perimeter 14a.
What are the dimensions of this rectangle?

Dimensions:





[image: image17.png]Aright-angled triangle has two equal sides.

Write the sizes of the angles in this triangle.
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[image: image18.png]Fillin numbers on the spinner so that both of these statements are true
Itis equally likely that you will spin 3 or 2

Itis more likely that you will spin 4 than 2

s
AV,




[image: image19.png]‘The graph shows the straight line with equation = 3x— 4

>,

Apointonthe line y = 3x— 4 has an z.coor

Whatis the -coordinate ofthis point?
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[image: image20.png]W inthe missing rumber.

175 | x

25








[image: image21.png]1454545 ...

"

Finc a fracton that s el n valus to

0.0454545 ...




[image: image22.png]Triangle ABC is equilateral

B [

Calculate the size of angle x



 

[image: image23.png]There are 20 questions in a quiz

A correct answer scares 2 points. An incorrect answer loses 1 point
A question not answered scores 0 points. A negative total is possible

What are the maximum and minimumn points you could get on the quiz?

maximum minimum
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[image: image24.png]What is the smallest 2-digit number that can be multiplied by itself to give a 4-digit
answer?




[image: image25.png]The square and the rectangle below have the same area

—ym—

«—d4cm—>

Work out the value of y
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[image: image26.png]Work out the number of boys and girls in the class below.

In class 8M, there are 27 pupils.

There are twice as many boys as girls

Number of boys

Number of girls





[image: image27.png]The heights of Russian dolls are inthe ratio4 : 6 : 7

s

In a set of dolls, the height of the middle dollis9 cm

What are the heights of the other dolls?

smallest middle tallest

cm
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[image: image28.png]Lauren has three small equilateral triangles and one large equilateral triangle
The small riangles have sides of 7 centimetres.

-—Tcm—s

Lauren makes this shape

Caloulate the perimeter of the shape.



                              

[image: image29.png]4 cube has shaded shapes on three of s feces.

Here s a net of the cube.

Draw inthe two missing shaded shapes.
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[image: image30.png]I think of a number.

| multiply this number by 8, then subtract 66
The result is twice the number that | was thinking of.

What is the number | was thinking of?




[image: image31.png]Ateacher asked her pupils i they recycled newspapers and glass

The pie chart shows the results

Newspapers

I only

5 pupils answered Neither’

How many pupils answered ‘Newspapers only'?
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[image: image32.png]111
= =,z aeall
383 Al unitfractions must have

examples of unit fractions R

P
.

1
3

adenaminator that is
an integer greater than 1

The ancient Egyptians used anly unit fractians Fnr% . they wrote the sum % + %

They wrote z% asthe sum of two unit fractions

One of them was %

What was the other?




[image: image33.png]Here s the stertof o seence of shapes uing
vt | frtvores | D

Each rectangls has heen numbsred

The pattern cortinues 1o grow i this way.

How many triangles wilthere be n the shape thet has 50 rectangles i 7




LOR Maths Challenge

2008
Year 8

Question 16



LOR Maths Challenge

2008
Year 8

Question 17



LOR Maths Challenge

2008
Year 8

Question 18
     

LOR Maths Challenge

2008
Year 8

Question 19



LOR Maths Challenge

2008
Year 8

Question 20



LOR Maths Challenge

2008
Year 8

Question 21

A is the ‘tens’ digit and B is the ‘units’ digit.

Find the missing digits A and B.
323  x  A7 = 1518B
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Last year my age was a square number.

Next year my age will be a cube number.

How old am I now?

How long must I wait until my age is both a square number and a cube number?
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